Svstems Review
Assignment

Systems of Equations
Solve the system of equations by graphing
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L y—gx—3
y=-x+6

Solution: (5 )\ )

Show all work for
credit!!
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Solve the system of equations by Elimination

C\X"6 =-\2
3x+py = O
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Solve the following system of equations by any method of your choice
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These are graphs of systems of equations Match the graph with the appropriate
description
5. L ,2 One solution at point (2, -3) 7. D One solution at point (0, 1)

6. ﬁ - =_ No solutions
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8. Elaine claims that @st/a solution to the following syst

3x-2y<7
em of inequalities: { iy

6x+y>2
Jane insists that it is not a solution.

Who is correct? For credit, please justify with mathematics and explain using words.

300 -2(-2) £7 GOy r (D52 Swa e pont(1,-2)
3-447 6-252 13 & soluken o lestl
L Hyg/ requeliies gl poit

(1,-2) ¥ & solutnn o ‘(\L
Solve by any method of your choice. Please show your work clearly. 436 XO"" 0‘(\ e C("‘&d : rh'%
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Matt and Ming are selling fruit for a school fundraiser. Customers can buy small boxes of oranges and
large boxes of oranges. Matt sold 3 small boxes of oranges and 14 large boxes of oranges for a total of

$203. Ming sold 11 small boxes of oranges and 11 large boxes of oranges for a total of $220. Find the
cost each of one small box of oranges and one large box of oranges.
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Solve and Graph (on number line)
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Solve the System of Inequalities by Graphing
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Real-World system of equations PJ’s Garage and Will’s Fix-it Cheaper will-both fix your car for a price.

- PJ’s Garage charges $36 to look at your car plus $40 per hour of service

- Will’s Fix-it Cheaper does not charge to look at your car, but charges $52 per hour of service

Write the equation for cost (C) with 4 hours of | Write the equation for cost (C) with 4 hours of
service using PJ’s Garage. service using Will’s Fix-it Cheaper.

C= 2{ + HOW (=52

Solve for how many hours of service fhe the cost will be the same. What is the cost?
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